Height

1.8m
2.0m
2.4m
2.5m
2.7Tm
3.0m
3.5m
4.0m
4.2m

5.0m

Ml FirstFence’

LOOSE PANEL KIT

Fixing Quantity Fixing Quantity
(Bolts, Timber Only) (Nails, For Both)

EchoReflect

PRE-FABRICATED PANEL

Fixing Quantity Fixing Quantity Fixing Quantity
(Bolts, Timber Only) (Nails for capping) (Wedges for steel only)

When fixing to timber: Rails
bolt to the front of the post
with M10 x 150 coach
Screws.

When fixing to steel: Rails
attach to the steel flange
with M10 x 70 coach bolts.

When fixing to timber: Use M10 x 150 coach
screws

When fixing to steel: M10 x 70 coach bolts through
the flange. Use 2 timber wedges per bay (except
for the 5.0m panel).




